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ot P be a pr defred m T, o o
onbsef ¢zﬂ@fﬂm N }
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(') P(aY holds and
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Lie.
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Thm 3-{43 nxn
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ProvF

Thu$ prvcaeoés éy muclson | Ve '
e Nmfy the coses N2 OCL\!‘QVHf_j»

( Nevercise . Done o C;eo,«z,,eﬁy I}

Else  we Snppose tas  hotdsS in the casge nsk) <

andl bry fo show it holds for the case n=k+l-
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Thm 3-19
et A be a £9 st mavix .

If B s obtas ny d fram Bk I#U&ppwj 7‘w~o |
olunns than At B = —o(;u‘j

I B ic obtnined from A by aipgety madtiplying

A o lmmn /ﬂjo( (x #+0) then detfB= xdet A

If 8 i obtasred fromn A by o\oloQ/\ﬂ A boes &
e wlumn fawmef then  dot B =det A.
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Thm 327 - i ‘
Jod B and A be axn oaatnices .
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Than  ded (8A) = et B8dot A.

FRSOF __ |
(ase T . Bus not inverti ble. j
Then BA is gt buerbble, as f X
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So B has a one -sioled wwtrse  and Covollary |
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At A
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| ded T; () = x¢ |
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T = i J el (by Thm 3.22)
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